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1. George collects shopping trolleys at the supermarket.
He earns £4.20 per hour for the first 36 hours he works in a week.

He is paid ‘overtime rates’ of £6.30 per hour when he works more than

36 hours a week.

(i) One week he works for a total of 38 hours.
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How much does he eam in this week?

mwmﬁ/f
LG IE]

36ag 20 A4 (.30 vt

512 T 426 <163 ¢

BHEWEER Bt mmmmmsmpmepmopmarmsninsass (2)
(ii) Next week he earns £198.45 T |
How many hours does he work this week? -0
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@) MrAlbright buys a lamp for £90 -
~ He hopes to sell it at a ‘special price’, maklng a proflt of 35%.

{1} For how much does he hope to sell the lamp?
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Unfortunately nobody buys it, so he reduces thé ‘special price’ by 10%.

- (i) What is the new price of the lamp? RS :
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- He sells the lamp at the new price.

(i) Express his profit as a percentage of his original cost pnce
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(b) Alr fares were increased by 10% on 1 January this year.
Mary now pays £990 for her ‘round the world’ air ticket..
How much would she have paid before 1 January? LT N |
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3. (a) The numbers of newspapers and magazrnes sold by a newsagent are
in the ratio 9:2

(i) On Monday he sells 153 newspapers.
How many magazines does he sell?
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Answer: ..... (2)

(if) On Saturday he sells a total of 242 newspapers and magazmes
How many newspapers does he sell?
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(b) A map is drawn to a scale of 1:25 000
How many centimetres on the map represent 1 kl!ometre’?
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"4. The mass, in kilograms, of each of 5 boys is

428 459 403 487 438

(i) What is the median mass of the boys?
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(i) What is the mean mass of the boys?
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Another boy of mass 47.3 kg joins the group.
(i) What is the new mean mass of the boys?
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2 giris of identical mass_then icin the group.
The mean mass of the 8 children is now 44 kilograms.

(iv) What is the mass of each giri?
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5. The Garden Centre sells boxes of bulbs :
Each box contains 90 bulbs of which 3 5 are hyacmths and & g are tunps

In addition there are twice as many crocuses as tuhps 2 dozen daﬂodlls and
the rest are snowdrops

- (a) Draw a_fully-Iabelled pie. chart to show this information.
Mark each sector clearly with both angle and name of bulb.

Jad-

(5)
(b) In a different box of bulbs the angle representing tulips is 108°
What percentage of that box is tulips?
T2 08, -0 =30
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6. (a) The first 5 letters of the alphabet, A, B, C, D and E, are each written on a

separate card and placed in a bag.

é\gr%lher bag coniains the vowels, A, E, |, O and U, each written on a separate -

Acard is qrax'gn at random from each bag and the reéults recorded on a chart,
part of which is filled in below.

R

vowels
A E I O U
Al AA
Bl .| |8
first 5 ) : -
letters cy CE
Dy . | " | DU
E L leol 1 J
(i) Complete the chart above. - 2)
{ii) What is the probability of
(a) drawing a pair of letters which are the same
Z \/
¥ BT 1= A U SO A — (2)
b} drawing a pair of vowels? '
(b) g a pair of vow ,__29 EER (IR
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(b) The probability that a train is not late arnvmg at Frumpton Station is 23

How many of the 60 trains which arrive at Frumpton each week would you

expect to be late? J
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PQRST shows part of a regular 20- snded polygon.
QR is produced to X.

(i) What is the sum of the interior angles of a tegular 20-sided figure?
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(i) Calculate the size of angle SQR.

...........................................

(iii) Calculate the size of angle PQT.

(iv) Which type of figure is QRST?
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(8) When a=146  p=g7 c="54
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Find the value of h when A= 387 &= 107
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(iv) Circle each point with lnteger co- ordtnates which lies entlrely inside the

region bounded by y= +x2—3andy= ax=1 o | (1)

(v) Which point, circled in part (N) has co-ordinates (x ¥) where the value of
xX—yis largest'? ,
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10. (i)

not 1o ceale

The diameter of tho circlo |s 70 cm.

- (@) Calculate the drcum’ferenco of the circlo,

e

STy
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(b) Calculate the area of the circle.
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Answer; 3%50 ............. .em? (2)

(i)

GREEN ../ GREEN
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" notto scale

_ A semi-circular window, diameter 70 cm, is made of 1 red and 2 identical
green sectors. o S :

(a) Calculate the perimeter of the 'semi-circular window. -
| S s
1t0 1 {lg

P—_ iﬁ + 105180 cm  (2)

------------------------------
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(b) Calculate the area of one green sector,

Answer: 11-31 ..... cm2 (2)_.'- '

(¢} The glass in the window is 4 millimetres thick.
Calculate the volume of the red glass in cm’.
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(i) On the 1 centimetre- squared grid

(a) draw rectangle PQRS where P is (3 2) Qis (10,2), Ri IS (10 8) and

Sis (3,8) \/,, (1)
(b) draw tnangle ACQ where Ais (3/4) and Cis (6 8) 5 J (1) -
(I') Calculate the area of the tnangle ACO sl ity
3K "TL s [-7,
Sxf = 25
F o |
Answer 1’75’ A AT cm®  (4)
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- (i) Calculate the lehgth ﬁf AC :
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(iv) Calculate the perpendicular distance from Q to AC.
ANSWET: ..ccvveivnes e isineiens cm @
12. '(a)jr A cube, with é’dges n cm long, has a total surface area of 337.5 cm’. ; - .
~ Calculate the value of . - L B
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(b)',“ |
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A cuboid is n cm long\(n — 4) cm wide and 4.5 cm high.

(i) Show that the tota surface area of the cuboid can be
represented by the expression 2n° + 1017 — 36

(4

The total surface area is 372 cm®.
(i) (2) Showthatn?®+5n—204=0 .
(b) By ‘trial and improvement" find the valug of n.
n n? | sn | m#+5n- 204\
Answer; T R TG IRR— ) (3)

(Total ma_rksi 100}
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